Theme 1 – Normative and Positive Statements
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secTion A

Answer AL questions in this section.

You are advised to spend 35 minutes on this section.
Use the data to support your answers where relevant.
You are encouraged to annotate and include diagrams where appropriate.

1 Statement 1: The London Congestion Charge on motor vehicles has reduced air

pollution i the city.

‘Statement 2: The plan to introduce a higher congestion charge for motor vehicles
with a large engine is unfair

Which of the following best describes the two statements above?
A Statement 1 s postive and statement 2is normaive.
Both statements are normativ.

B
€ Statement 1 s normative and statement 21s posiive.
D Both statements are positive.

(@) Answer

(0) Explanation
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Section A: Answer all the questions in this section
You should spend 35 minutes on this section. Use the data to support your answers where
relevant. You may annotate and include diagrams in your answers.

1 Statement 1: Bonuses to financial sector workers in the City of London exceeded
£13 billion in 2009.

Statement 2: A 50% tax on bonuses above £25,000 is fair.

Which of the following best describes the two statements above?
M
Statement 1 is normative and statement 2 is positive.

Both statements are normative.

Statement 1 is positive and statement 2 is normative.

onw >

Both statements are positive.

Answer

Explanation
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Section A: Answer all the questions in this section

You should spend 35 minutes on this section. Use the data to support your answers where
relevant. You may annotate and include diagrams in your answers. L

1 Statement 1: In the UK, a 50% tax rate applies on taxable earnings over £150 000
ayear.

Statement 2: The 50% tax rate is unfair to high income earners since it reduces their
living standards.

Which of the following best describes the two statements above?
(4}

A Statement 1 is normative and statement 2 is positive
B Both statements are positive
C Statement 1 is positive and statement 2 is normative

D Both statements are normative

Answer

Explanation





